number <+ 10 etc (12)

number + 10 etc (12)

n =+ 10 (12)

number + 10 etc (12)

number + 10 etc (12)

Write down the value of

Write down the value of

Answers

(a)

6.2507 + 10

(a)

6.2507 + 10

(a)  0.62507

Write down the value of

Write down the value of

(b)  0.06782

67.82 67.82

(b) —== (b) ——
1000 1000

() 5.25=100 (¢) 5.25=100

(c) 0.0525

(d) 0.5106666

(e)  0.09375

(f) 0.72

7.2 7.2
[y = £y =
® 1 ® 1
(g) 454.545 = 1000 (g) 454.545 + 1000

(g)  0.454545

(a) 6.2507 = 10 (a) 6.2507 = 10
67.82 67.82

(b) o (b) o
1000 1000

(¢) 5.25-=100 (¢) 5.25=100

(d) 510.6666 + 1000 (d) 510.6666 + 1000

(e) 9.375+ 100 (e) 9.375+ 100
7.2 7.2

£y == [y —=
(g) 454.545 = 1000 (g) 454.545 = 1000
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